
June 18 Math 2254 sec 001 Summer 2015
Section 7.3 Trigonometric Substitution

Substitution for the form
√

a2 − x2
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Substitution for the form
√

x2 − a2
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Substitution for the form
√

a2 + x2

We’ll assume that θ is in an appropriate interval–e.g.
(
−π

2 ,
π
2

)
for the

substitution x = a tan θ
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Evaluate The Integral

(f)
∫ 1

0

√
9− 4x2 dx
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Evaluate The Integral

Derive the three formulas∫
dx√

a2 − x2
= sin−1

(x
a

)
+C

∫
dx

a2 + x2 =
1
a

tan−1
(x

a

)
+C and∫

dx
x
√

x2 − a2
=

1
a

sec−1
(x

a

)
+C
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